T

[d* sum p_/dndeJGeV]

Ratio to ATLAS

1.5

0.5

[EEY

0.5

900 GeV p Underlying Event
T I | I I I | I I I | I I I | I I I —I_ ﬂ
| —
- Sum(p,) Density (AWAY) (h| < 2.5, p_> 0.5 GeV) o
B 1=
- m ATLAS e
. --d-- Herwig 7.2.0 default o
— ¢ Sherpa 2.1.1 default —o‘j').
B @
— -2
| _r
| i
o™
— — <
o™
- =8
| _f:g _________ f.T.'-;] — o‘_r|)
- ol . <
B ” _________ ;""'i ] E
— _.Q-W"" ,!“ﬁ =
WEAMPY F o S
B 4t o mEE m=
— 4t gEl — =
A EE @
— ‘i. _] Q
| ‘I |
& ©
o g
| | | | | | | | | | | | | | | | | | | E
:I T | T T T | T T T | T T T | T T T |:
— =2
B ""'-0--Q..’..Q.’..Q..Q--Q--‘ N _
B KR T SRl Y SO i
[ N M e W o N e 5 B g B | M ”B‘~:1!;:-—|_| "Iﬁ'_;mﬂ— ---- 5] 1
Il g e i B e =] I_I~|—_r[-_‘rr_~}E 411 LT "t.j.\\
lil _
L —0.5
l L l l l L L L l
2 4 6 8 10

P, (leading track) [GeV]



	Contents
	Page 1


